EARAROBEEIERT — 2 N— IBISH —F

20165F3A19H (+) 12EKR1H

Kl c2tme 55—

‘ (] 8 ‘ [EmmEl  — | 4 (/) 13000 B

[A~&£] 1 7% :100,000 @ ~ 23%&:20,000  33#%:10,000H . 43%&:7,000H 53 :3,000H

B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
S 07 IR . _ EfEf KR
118l 9 TJ5—<TILT 4 5 5'_'4./6 1(2_7)1 1-1-1-1 | 41.9 1 (3_785) ;_rgm
RZ2G1 T hF—=Ty7—K—=FK B:X91ULTRI< AHI Ty —L
\ sy TRRiE— :27. 00— . — TRsaE ()
2 6| TU>Ya—L % 6 oG 1(217)3 2-2-2-2 | M.7 4 (4:313) L
L:¥r/n7aq4 BehNIALy b 18 EAA
Co s — LA EA# : -3-3- - 1EEE— (KR)
3 4| KoK=T—0 4 6 74 1.(258>.l 4-3-3-3 | 42.3 3 (4;4) ey
L:FFHXTF>d B:TALANY—EL [Rj::Eve]
FE 3T ; ~5-5- - EES= (BE)
4 3 B, A G 4 6 o (12.218/.25) 5-5-5-5 | 42.0 8 (4_353; VA/EEW—
w1277 B:RTF15T A HE
o ) EEEE .08, o 7_ . — =B (KiR)
50111 S Ry — ) 4 5@::4_0 (11218/47) 9-8-7-7 | 41.9 9 ::; Eﬁginz
R:TAIKES Y2 BICRKLARY—LA BF ®Xt
. AATBE .08. XN . = FERR (KR)
6 2 F ALy AL O— 4 9 ol 1(12/82)8 7-7-6-6 | 42.1 2 (4:341) ol
R:FREy 7INT— BIVFTTA-X 2 T
. . ERRE : —4-4- - =R (KR)
7177 L RIALACE 4 6 5&40 1(.12/82.>9 3-4-4-4 | 42.6 7 (4&6) Tee
R:TV—vI>TlhL B:HI5h14Hh EiEirse]
. . KA . PP — RIRE (KR)
slsls #rarOvSLX 4 6 0 1'(249)'6 6-6-8-9 | 42.7 6 :112) S 7
L:T74—T14FAF—-XY> B:I914XE-F ES-% e
S IEEPNS 4 | ERRE 1:29.6 8-9-9-8 |42.6| — 5 300 | TEE#AZE (BERE)
9|5|5|Yx1—>NN 54.0 (74%) (6) | RME—
R:honN=Z— B:bOEHNLTFT— HILRZY b
® 1 — @B
15l=2F= 9,6,7,4,3,8,2,5,1
2o =7r= 9,6,4,7,3,8,2,1,5
T =35r= 9,6,4,7,3,2,1,8,5
41—F— 9,6,4,7,3,2,1,5,8
[ F/N=5
B R 9 260/ 74K 6-9 240/ & 6-8 540/ &R 4-6-9 1,080M
% B 9 200M 4-9 550 B E 6-9 490 3EE 9-6-4 3,770
6 170 4-6 400M B H 9-6 880M
4 270M

ABICOVWTRDTEEERROODE. TR LIV,




